
Lexical Functional Grammar (L.F.G) 
 

 

●Incomplete Sentences：文章の空欄に入る語を、下に  

ある 4つの選択肢から一つ選びなさい。 

 

1. At a news       earlier today the prime minister 

said the government would not change course． 
 

（A）congress            （B）concourse 

（C）convention          （D）conference 

 

2. Until he finds a job，John will continue to be 

      on his parents． 
 

(A) depend             (B) depended 

(C) dependent          (D) dependable 

 

3. The welfare committee’s report expressed concern   
        the increasing number of homeless young 

people． 
 

(A) at      (B) by      (C) on      (D) from 

 

4. The vending machine       out of order for two days 

now． 
 

（A）has been      （B）will have been 

（C）has been being   （D）was to have been 

●Error Recognition：文章中のＡＢＣＤのアンダーライン

部の1個所が間違っています。その個所を指摘しなさい。 

 

1. All the runners were exhausting after completing the 

    A                      B               C 

marathon in 30-degree heat. 
            D 
 

2. The speaker at the meeting was repeatedly interrupted 

              A                    B           C 

by people who disagreed to his views． 

                           D 
 

3．Is there anything other we can do for you this 

   A  B           C      D 

evening？ 

 

4．The porter will take them of you when you go 

A         B   C   D 

to your room． 

 

 

 

 


